m R HRETUIL/V FBN{Y

LT

1541004

N

ELIZ ] | N-010206

MBE - BiF
BESE | SGP(VPA0A~VPIS0ALMATEEY) mEiR (EmEitsn-T)

ESE  SGP(VP40A~VPIL0ADMATESRY) mixR (BRibigsh >E)

J—FNo. EEin ESEEER) txB S ] e g H
ms 15A 21.7 1.8x25 44 20 Mex20 55
020 20A 272 1.8%25 44 20 Mex20 58
025 25A 34.0 1.8x25 44 20 Me>20 62
032 32A 42.7 1.8x25 44 20 MEx20 66
040 40A 48.6 1.8x25 44 20 M6x20 69
050 S0A 60.5 1.8%25 44 20 MEx20 75
065 65A 76.3 2.0x25 44 20 MEx20 a0
080 80A 89.1 2.0x25 44 20 MEX20 97
100 100A 114.3 2.0x25 44 20 MBex20 109
125 125A 1398 3.032 55 255 M10x30 131
150 150A 165.2 3.0x32 E5 25 M10x30 144

HEMAEOIOTEERBELTIEE L.
N-010278
MEE - B

J—FNo. EE#F HESEEEA) txB RgRILsFub
Q15 15A 21.7 1.2%25 44 20 Mex20 55
020 20A 272 1.2x25 44 20 M6x%20 58
025 25A 34.0 1.2X25 44 20 MEX20 62
032 32A 427 2.0%25 44 20 M6x20 66
040 40A 48.6 2.0%25 44 20 MEX20 69
050 50A 60.5 2.0x25 44 20 ME&X20 75
065 65A 76.3 2.0x32 46 20 MBx20 90
080 80A 89.1 2.0x32 46 20 M8X20 97
100 100A 114.3 2.0x32 46 20 MB8x20 109
125 125A 139.8 3.0%32 55 25 M10x30 131
150 150A 165.2 3.0%32 55 253 M10x30 157
HEMEONOTEREELTEEL.
15A-100A 1581504 15A-1504
S 1T 16 | N-010242
MBR - AE

0EEE EESA ZUJEE(VD/PC)  miE (BRERDHE)

J—KNo. HEfRfr EOREEA txB C P @fftibbruk H  ABO8xE)
015 15A 25.7 1.8X25 | 44 | 20 | M6x20 59 | 250(10x25)
020 20A B2 1.8%25 | 44 | 20 | M6x20 | 62 | 200(10%20)
025 25A 376 1.8%25 | 44 | 20 | M6x20 | 65 | 200(10x20)
032 32A 46.3 1.8x25 | 44 | 20 | M6x20 | 69 | 200(10x20)
040 40A 52.2 1.8%25 | 44 | 20 | M6x20 | 72 | 140(10x14)
050 S0A 64.1 1.8x25 | 44 | 20 | Méx20 | 78 [ 110(10x11)
065 65A 79.9 2.0x25 | 44 | 20 | M6X20 | 86 | 110{10%11)
080 80A 927 2.0x25 [ 44 [ 20 | M6x20 93 | 100(10x10)
100 100A 1183 [20x25| 44 | 20 | M6x20 | 106 [ 100(10x10)
125 125A 1438 [ 3.0x32 | 55 [25%| MI10x30 [130 50
150 150A 170.2 [ 3.0x32 | 55 25| MI10x30 | 144 50
HERONOTEEERELTIE L,
— “ “ . 5A-1004 15A-1508 1540008
m= 25 2PCIL/NFBN{d BRI [ N-010244
MBER - B

BEGE EESA I EEVD/PC) AT UAR(SUS304)

J—FNo.

EE  ESEEEA)

t<B

P @ftRiLhFvk H

AB(188x8)

015 15A 25.7 1.8x25 | 44 20 MEx20 59 | 250({10x25)
020 20A 31.2 1.8%25 | 44 | 20 |  Mm6x%20 62 | 200(10%20)
025 25A 37.6 1.8%25 | 44 | 20 | M6x20 | 65 | 200(10x20)
032 32A 46.3 1.8x25 | 44 | 20 | M6x20 | 69 [ 200(10x20)
040 40A 52.2 1.8%25 | 44 | 20 |  M6x20 | 72 | 140(10x14)
050 S0A 64.1 1.8%25 | 44 | 20 | mex20 78 [ 110010x11)
065 65A 79.9 2.0%25 | 44 | 20 | Mm6x20 | 86 | 130(10x11)
080 80A 92.7 2.0%25 | 44 | 20 | M6X20 93 | 100(10x10)
100 100A 1183 [20x25| 44 | 20 | M6x20 | 106 [ 100(10x10)
125 125A 1438 [3.0x32| 55 |25%| MI10x30 [130 50

150 150A 1702 [3.0%32 | 55 25# | MI10x30 | 144 50

#MAROTDTEEREL TS,

NICHIEI.

INTEC

S-S EIRE AR .

051




